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2|97 H FE3} 49 46 95
|BEE f#— 49 44 93
4(shE BEX 45 44 89
S[IRA HERX 41 46 87
6| ER & 41 45 86
e 40 45 85
BUEH EX 35 49 84
9 KB 49 34 83
10[f8H HxX 94 26 80
1{HAE FE 44 34 18
12| HER 46 32 18
13[dt+F  B5 41 31/ 18
14[FKX EXR 35 42 11
150/ —E 40 36 16
16[#IL 85X 39 31/ 16
17| LM B3 38 31/ 15
18|/ R ETi 36 39 15
19|HJIl {EfT 38 36 14

20|18  [LBH 28 45 13
21|(#AH BHEA 40 32 12
22(Ri1E  Fi 34 37 71
2| KRl Hz 21 44 65
24[)\+JIl =— 40 22 62
25| BEIBIR {87 06 56
26| $7HE A= 48 48
21|97 RBA 44 44
B EHF =F 20 24 44
29| FH REE 43 43
[F=H B 43 43
J1|EA Ig=E 42 42
R2|5EK FE 41 41
33/hil BE 40 40
4\ih EE 40 40
J|HE  Ei5 38 38
36[7kH HBA 38 38
3| ZiE RI= 37 37
38| K& Zih 36 36
39|71l & 36 36
0(E 8/ 35 35
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